PEC

50ha
365
10% 5mm
3,756,000
(9/ha)><
3,756,000
M out M seepage
(Mout) (Mseepage) (Mdr) (Mdd)
3,756,000
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Mou 9
= 50ha > XCi >< Qou
i 150 0 i 150
Micepage (9)
= 50ha > (XCi > Qseepage )/ Kievee
i 150 0 i 150
Mar 9
= | > Dwe/100 =< Ziver
Maq (9
= | < Duien/100 > Zgicn
C i (10%
01/ ) (mg/L)
(0 i 14 A
Ci=(i )><exp{ ( > i)}
14 i
Ci= Co < exp[ {(Ln2/ ) 1< ]
Co={( (g/ha)>< 50ha Mr Mad)>< Fo}
500ha > 10%>< (0.05m)> 10*(m?/ha)
15
- /
Qout 30 /ha/day
Qseepage 20 /ha/day
lha 500 /ha: 100m > 100m > 5cm 10%
50 30 20
FP
=1 =0.5 =0.2
=0.3 =1
I (g/ha)
Driver 0.5% :2.4%
0%
Doitcn 4% :100%
0%
Ziiver (ha)
(5000m)>< (10 )= (3m)><
(10"ha/m?)  0.15ha
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Ziiteh (ha)

500ha >< 10% 150 0.33ha
1/150=
Kievee ()
Klevee:plevee/Rws X< Ko X OCiee / 100 +1
Plevee 1.0g/c
Ruws 2.4
Ko (c /g)
OChevee 2.9%
M. Mseepage
M Mou Mseepage
(M) (M) (Mar) + (Mao)
3,756,000
M. g
Mseepage
50ha>< (ZCi>< Qseepage)/ Kievee
i 0 i k
C i
4%( ) 0.04/ (mg/L)
(0 i 14 i k
Ci=(i )><exp{ ( >< i)}
14 i [ k
Ci= Cox<exp[ {(Ln2/ ) }x<i]
Co={( (g/ha)> 50ha Mr Mad)>< Fo}
50ha > (0.05m)>< 10°(m’/ha)
15
-
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M: (9)

Mout + Mseepage
(50ha>< ZCixQout) 50hax(ZCiXQseepage)/Klevee
i (K) 150
Ci 10% 0.1/
(i 14 kK i
Ci=(i )><exp[ {
> Kk}
14 i k 1 150
Ci=C« >< exp[ {(Ln2/ ) }><(i
C( (K) )=Co =< exp[ {(Ln2/
}>< K]
15
-
Mdr g
I =< Driver/loo =< Zriver
M g
| > Duiten/100 > Zaiten
PEC
11 9) @) (5) @)
(@) (@) (@] (@) (@]
>|< ] I 1 xxxlxxlxxlxxlx 1
Napp=
o 5
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traini=7

Train 1 Atraina 10
Atraing 11
10 150
Napp
30
Atapp=150/Na»=30
(Mauts) (Mer)
3,756,000
Mo (9)
( 750ha( )>< 5%( )>< | Mow ) < EWein > Ry < Fu
Mr (9)
I > Driiver X Ziiver
I (9/ha)
EWein 365
XWein 1
Ru 0.2% > (
)10%=0.02%
Fu
=0.1 =
=0.3 =
Driver 0.2% 5.8% 2.0%
0%
Zriver
(7500m) >< 6 )= (3m)>=
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(10" ha/m?)

0.11ha

(Mou) + (Mar)
3,756,000
Mou (9)
EMoutum
Y{ZUnn > 750ha( )>< 5%( )< R < R}
X¥Umn > 750ha( )>< 5%( ) Ri < Ry
X¥Umn M n
(9/ha)
M- (9)
2Mar-um I < Diive X Ziiver
m=1
n=1 1
Uni=1 < exp{ ( )><1
}
=Uo >< exp{ (Ln2/ )< tain}
U= (g/ha)>< 750ha >< 5% Muuw1 [/ 750ha >< 5%
Mar-u1= (9/ha)>< Driver > Zriver
2 n 10 1 n
n
Uin=Un1 ><(1 0.2 < Fy)>< exp{ (Ln2/ ) > Atuaina }
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n=11 1 11
11
Uin=Uwo ><(1 0.2 < F)>< exp{ (Ln2/ )>< Atuins}
m 1 m Napp
n=1 m 1
1
Uni=m < exp{ ( )>< 1
}
=Umo >< exp{ (Ln2/ )>< tainim}
Unmo=( (g/ha)>< 750ha >< 5%  Marum) / (750ha >< 5%)
Mar-um= (9/ha)>< Driver > Zriver
2 n m n
-ion = 11 Atapp <
(m 1) tanm  Atana X<(N 1) tam  Ataina >< 10)
n
Uno=(n 1) ><(1 )
><exp{ ( )>< }
=Umna > (1 0.2 < F)>< exp{ (Ln2/ )>< Atuina}
-ii n 11 Atapp X<
(m 1)  tanm  Atana <(0 1))
Unn=Umn1 ><(1 0.2 < Fy)>< exp{ (Ln2/ )>< At}
m M=1  Nap
n m n=0 11 m
NaDP
train1 traim=7
frainm M 0 Lraint,m 15
Ataina 1 10 Atmina=15
Atains 10 11 Atring=120
Atapp 150/Napp

719




(@)
o
train1:7
AtrainA:].S Atrainlezo
(@)
Napp:5
m=1 n=1 11
m=2 n=1 9
m=5 n=1 3
EMout-u,m + ZMdr-u,m
3,756,000
ZMout-u,m
37.5ha > 0.02%>< Fu >< XU
ZMdr-u,m
I =< Driver =< Zriver
Unmn 2 n 10
(n 1) ><(1 )<
exp( =<
Umn: > 0.998 < exp (1> Ln2/ > 15
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12

8147
2-11-5
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